EENRE

1. IE4

THA 2716 R BILI LR AU EDER T
THmE (R L T L~ i T L5
2. TR
1) FHHL W OFIEEFHT IR -
2) EIHE )R T8 _ :
3) T # STTH B w74 JH208
E  fW 8 3A3A

4) THEE

HiREE PENAERE



RENRE

THEA | 76 GRS ARKHEDAER T3

THESY - Tha - 5 T B B % g B m =
S ES 1 31, 425, 507 T
MEET = 1 10, 139, 376
BTG R T = 1 10,070, 000 |G KALHER o 1, 000 3
EIRET = 1 60,376 |BamE - 5, 480 2
RET % 1 2,376,043 |
5 AHRIRET = I 2,376, 043 | RBHIREL () 00 2
: SR (RBRRED . 700 2
\ RBERRE (e _ : 33, 200 2
i URBERRE) 33,200 ° m
HoR _ 400 1’
BARHEE L ROA R ;
HEHIEET ® I 2,093, 674
BEAWESE T, = 1 2,093, 974 |hEEifE ' 1 =
| ‘ BREHS i 1 %
BRI T % ] 136, 630 :
FeAIRML S T = T 136, 630 | BRALST . 1 x
ERHER L % i 169, 344
A AT X ] : 169, 344 |ZHHEE A 1, 260 2
K ; :
AR T x i 4, 726, 200
AT = 1 4,726, 200 |tk ‘ - 1, 000
BEG0cn ;
A ‘ 1, 000
30cn=1tE<60cn ;

- 1= ' ELscmE FEESEHE




HENRE

THE | HW6 FERMI Y AR KM EIM S THE

il

TEHRKS - ThHE - fp B Oy B & 4 R
f#A 500
60cm=#:<90cm ;
AR 500
0cn=%E<120cn ;
MT | 11, 636, 240
TR = 11, 636, 240 |FEHEHERS 1 =
R T it 147, 700
TEEET = 147, 700 |ZEWBEEHE 1 i
EETHERE = ¥ 31, 425, 507
ol R = 2, 861, 000
MR R T e 399, 000
HEREwESE (#ih) = 399, 000
HEERE GRELE) = 2, 462, 000
HIERE = 34, 286, 507
RS ERY = 11, 989, 000
THEEM = 46, 275, 507
—RREEERE = 3. 694, 493
THmE = 54, 970, 000
-2- E-EEy PEESERED




